Honors Biology- Cell Energy Review		Name ________________________ # ____
Study these diagrams thoroughly for the test and EOC!
1. Review: Endergonic vs Exergonic Reactions; Enzymes.
[image: http://ib.bioninja.com.au/_Media/exergonic-vs-endergonic_med.jpeg]
Questions:
1. Which graph represents respiration? 
2. Which graph represents photosynthesis? 
3. Which graph represents ATPADP + P? 
4. Which graph represents ADP + P  ATP? 
5. Explain why the dashed line (‘with enzyme’), is lower in free energy than the solid line (‘without enzyme’).


2. Enzymes- go to this site: http://ib.bioninja.com.au/higher-level/topic-8-metabolism-cell/untitled-6/activation-energy.html . Here’s an example of one diagram you’ll see:
[image: ]
Question:
State a minimum of 2 consequences to organisms if they did not use enzymes to catalyze chemical reactions. 

3. Review of ATP Cycle:
 [image: http://nlhawksapbiology.weebly.com/uploads/3/8/1/6/38169401/3246458_orig.jpg]
Questions: 
1- Explain why organisms cannot use the energy from catalyzing glucose directly & instead utilize ATP as their energy source.



2- Make a diagram of ATP and label adenine, ribose, PO4 and the ‘high energy’ bond.


4. Go to this site and look at the summaries of photosynthesis & respiration: http://biologywithsoroka1718.blogspot.com/2017/10/photosynthesis-overview-notes.html Here’s one example of what you’ll see:
[image: ]
Questions: 1- What is the specific type of energy referenced in the diagram?
2- What should be written above the arrow in the first equation?
3- What do the words aerobic and anaerobic mean?
4- What types of organisms respire?
5- What types of organisms photosynthesize?

5. [bookmark: _Hlk506068687]Summary Diagrams of Aerobic Respiration: (*note: some sources say 36 ATP & some say 38 ATP)
[bookmark: _GoBack][image: https://qph.ec.quoracdn.net/main-qimg-0d15799de3a58437b464ff88bfbed694]

[image: http://image.slidesharecdn.com/honorsrespiration-120330133857-phpapp02/95/honors-biology-cellular-respiration-19-728.jpg?cb=1333114812]

Questions: 1. Which part of Aerobic Respiration yields the most energy? 

2.Explain what happens to the 2 pyruvates if there’s no oxygen present in respiration.


6. Summary Diagrams of Photosynthesis:
[image: https://upload.wikimedia.org/wikipedia/commons/thumb/0/0c/Simple_photosynthesis_overview.svg/2000px-Simple_photosynthesis_overview.svg.png]



[image: Image result for photosynthesis diagram]

Questions: 1- Is light required for the Calvin Cycle? 
2- Do plants respire?
3- What does NADPH do?
4- What molecule is NADPH analogous to in respiration?


7. Comparison of the Overall Processes of Photosynthesis and Respiration:
[image: Image result for endergonic vs exergonic respiration photosynthesis]


[image: http://1.bp.blogspot.com/-GWg87VLjLeY/VVa_TGhIOoI/AAAAAAAAAKM/FqHGbDLa2Xo/s1600/characteristics.jpg]



Question: Complete the Venn Diagram: *You don’t have to make a poster, as stated below. If additional space is needed to compete the diagram, use another sheet of paper. Be NEAT!

[image: ]
[image: ]
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FOOD “MAKING” = Photosynthesis
FOOD “BREAKING” = Cellular Respiration

(also called Aerobic Respiration if O, is there)

They are exact opposites of each other !

photosynthesis
6CO;+ 6H.0 + enerqgy — [ CH:.0.|+ 60.
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Characteristic Photosynthesis Cellular Respiration
Reactants 6C0Zand 6H20 and light energy | C6H1206and 602
Products CH1206and 602 6C0Zand 6H20and ATP
Production of ATP Yes Yields 36ATPs

- chemiosmosis

- pyruvate oxidation

- glycolysis
- Krebs Cydle

Suntight Needs Doesn’t need

Energy (ATP) Requires energy Releases energy

Function Production of food (energy Breakdown of food (energy

capture) release)

Tocation Chioroplast Cytoplasm and Mitochondria
(matrixand intermembrane
space)

Electron Source Glucose, NADH=, FADHZ Oxidation HZ0 at Pl

High electron potential
energy

From breaking bonds

From light photons
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Directions: On a poster create a Venn diagram comparing photosynthesis and cellular respiration. All of the words and
phrases listed below should be included on your diagram. Each one has a correct place it should be on the diagram.
Utilize notes, bell work, class work and text books to help. The poster is due at the end of the block.

Word Bank — each correctly placed word/phrase is worth 2 points

Involves chemical reactions Used by plants

Involves energy Produces O,

Occurs in chloroplasts Uses CO,

Converts energy from one form to another Uses O,

Occurs in mitochondria Aerobic

Involves an electron transport chain Anaerobic

Produces glucose Glycolysis

Light independent reactions (Calvin Cycle) Thylakoid

Produces H,0 Produces ATP

Light dependent reactions NADPH

Requires enzymes NADH

Requires chlorophyll Krebs Cycle

Used by all organisms Pyruvate

Traps light energy 6CO; + 6H,0 = CgH1,06 + 60,
Used by animals CgH1206 + 60, = 6H,0 + 6CO,

Produces CO,
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